

Name: EFFANCA, BASSEY EFFANCA

Matric no: 19/sci, 01/041

Computer Science

$$\textcircled{1} \int x^2 \sin x \, dx$$

$$\int u \, dv = uv - \int v \, du \quad \textcircled{1}$$

$$\text{for } \int u \, dv = \int x^2 \sin(x) \, dx$$

$$u = x^2 \Rightarrow \frac{du}{dx} = 2x$$

$$du = 2x \, dx$$

$$dv = \sin(x) \, dx$$

$$v = -\cos x$$

Subst. into into $\textcircled{1}$

$$\int x^2 \sin(x) \, dx = -x^2 \cos(x) - \int (-2x \cos(x)) \, dx$$

$$\int x^2 \sin(x) \, dx = -x^2 \cos(x) + 2 \int x \cos(x) \, dx \quad \textcircled{2}$$

$$v = x \Rightarrow \frac{dv}{dx} = 1 \Rightarrow dv = dx$$

$$du = \cos(x) \, dx \Rightarrow \int du = \int \cos(x) \, dx$$

$$v = \sin(x)$$

$$\int x \cos(x) \, dx = x \sin(x) + \int \sin(x) \, dx$$

Since $\int \sin(x) \, dx = -\cos(x)$, This becomes

$$\int x \cos(x) \, dx = x \sin(x) + \cos(x) \quad \textcircled{3}$$

Recall

$$\int x^2 \sin(x) \, dx = -x^2 \cos(x) + 2 \int x \cos(x) \, dx$$

Subst. into $\textcircled{3}$ into $\textcircled{2}$

$$\int x^2 \sin(x) dx = -x^2 \cos(x) + 2(x \sin(x) + \cos(x))$$

$$\int x^2 \sin(x) dx = -x^2 \cos(x) + 2x \sin(x) + 2 \cos(x) + C //$$

$$(2) \int 3t e^{2t} dt$$

$$\int u dv = uv - \int v du$$

$$\text{let } u = 3t$$

$$\frac{du}{dt} = 3 \quad du = 3 dt$$

$$\text{let } dv = e^{2t} dt$$

$$v = \frac{1}{2} e^{2t}$$

$$\int 3t(e^{2t}) dt, \quad 3t \left(\frac{1}{2}\right) e^{2t} - \int \frac{1}{2} e^{2t} \cdot 3 dt$$

$$= \frac{3}{2} t e^{2t} - \frac{3}{4} e^{2t} //$$

$$(3) \int 2x^2 \ln(x) dx$$

$$2x \int x^2 \ln(x) dx$$

$$2x \ln(x) \times x^2 dx$$

$$\int u dv = uv - \int v du$$

$$u = \ln(x)$$

$$dv = x^2 dx$$

$$v = \int du \quad du = \frac{1}{x} dx \quad v = \frac{x^3}{3}$$

$$2 \left(\ln(x) \times \frac{x^3}{3} - \int \frac{x^3}{3} \times \frac{1}{x} dx \right)$$

$$\int u dv = uv - \int v du$$

$$\int 2x^2 \ln x \, dx = 2 \left(\ln x \times \frac{x^3}{3} \right) - \int \frac{x^3}{3} \times \frac{1}{x} \, dx$$

$$2x^2 \ln x \, dx = 2 \left(\ln x \times \frac{x^3}{3} - \int \frac{x^2}{3} \, dx \right)$$

$$2 \left(\ln x \times \frac{x^3}{3} - \frac{1}{3} \int x^2 \, dx \right)$$

$$\int x^n \, dx = \frac{x^{n+1}}{n+1}$$

$$\int x^2 \, dx = \frac{x^{2+1}}{2+1} = \frac{x^3}{3}$$

$$= 2 \left(\ln(x) \times \frac{x^3}{3} - \frac{1}{3} \times \frac{x^3}{3} \right)$$

$$= \frac{2x^3 \times \ln(x)}{3} - \frac{2x^3}{9}$$

$$\int 2x^2 \ln x \, dx = \frac{2x^3 \times \ln x}{3} - \frac{2x^3}{9} + C //$$

$$(4) \int \frac{2x - 3x^2}{1-x} \, dx, \text{ Separate} = \int \frac{2x}{1-x} \, dx - \int \frac{3x^2}{1-x} \, dx$$

$$\int f(x) = g(x) \, dx = \int f(x) \, dx = \int g(x) \, dx$$

$$\int \frac{2x}{1-x} \, dx - \int \frac{3x^2}{1-x} \, dx$$

Calculate indefinite integral

$$2 - 2x = 2 \ln(|1-x|) + 9 + 6x + 3 + 3 \ln(|1-x|)$$

$$= -5 + 2x + 3x^2 + 1 - 2$$

$$= -5 + 2x + 3x^2 + |-(1-x)|$$

$$\int \frac{2x - 3x^2}{1-x} = \frac{-5 + 2x + 3x^2 + \ln(|1-x|)}{2} //$$